
MATHS

BOOKS - NCERT MATHS (HINGLISH)

INTEGRALS

Integrals

1. verify that 

Watch Video Solution

∫ dx = x − log∣∣(2x + 3)
2∣∣ + C

2x − 1

2x + 3

2. Verify that

Watch Video Solution

∫ dx = log∣∣x
2 + 3x∣∣ + c

2x + 3

x2 + 3x

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_L5jJaOvaws8t
https://dl.doubtnut.com/l/_9PBAiRzjmGFt


3. 

Watch Video Solution

∫ dx
(x2 + 2)

x + 1

4. 

Watch Video Solution

∫ dx
e6 logx − e5 logx

e4 logx − e3 logx

5. 

Watch Video Solution

∫ dx
(1 + cos x)

x + sinx

6. 

Watch Video Solution

∫
dx

1 + cos x

https://dl.doubtnut.com/l/_9PBAiRzjmGFt
https://dl.doubtnut.com/l/_riOYOVbfqst5
https://dl.doubtnut.com/l/_B8wIbL5GDJcx
https://dl.doubtnut.com/l/_SvF0yEKEtaa4
https://dl.doubtnut.com/l/_FrG2M8difjJW


7. 

Watch Video Solution

∫tan2
x sec4

xdx

8. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫ dx
sinx + cos x

√1 + sin 2x

+ C
x2

5

x + C

2x + C

x
2 + C

https://dl.doubtnut.com/l/_FrG2M8difjJW
https://dl.doubtnut.com/l/_jo65BdRxWElX
https://dl.doubtnut.com/l/_40taYOySgcdx


9. 

Watch Video Solution

∫√1 + sinxdx

10. 

Watch Video Solution

∫ dx
x

√x + 1

11. 

Watch Video Solution

∫√ dx
a + x

a − x

12. Evaluate: 

Watch Video Solution

∫  dx
x1 / 2

1 + x3 / 4

https://dl.doubtnut.com/l/_pdDdo4d38dny
https://dl.doubtnut.com/l/_R4JEZ1NeNWOv
https://dl.doubtnut.com/l/_OPCk0Zv1vWCJ
https://dl.doubtnut.com/l/_zAaVMb1xYws7


13. 

Watch Video Solution

∫ dx
√1 + x2

x4

14. 

Watch Video Solution

∫
dx

√16 − 9x2

15. 

Watch Video Solution

∫
dt

√3t − 2t2

16. 

Watch Video Solution

∫ dx
3x − 1

√x2 + 9

https://dl.doubtnut.com/l/_ZvFoLNrlLuDj
https://dl.doubtnut.com/l/_fx084yFffacv
https://dl.doubtnut.com/l/_EJDQVHMxbUYl
https://dl.doubtnut.com/l/_82F71JT0WDPS


17. 

Watch Video Solution

∫√5 − 2x + x
2
dx

18. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫   dx
x

x4 − 1

. log
∣
∣
∣

∣
∣
∣

+ C
1

6
x2 + 1

x2 − 1

. log
∣
∣
∣

∣
∣
∣

+ C
1

6
x2 − 1

x2 + 1

log
∣
∣
∣

∣
∣
∣

+ C
x2 − 1

x2 + 1

. log
∣
∣
∣

∣
∣
∣

+ C
1

4
x2 − 1

x2 + 1

https://dl.doubtnut.com/l/_GjAdraTzhHgI
https://dl.doubtnut.com/l/_HiloCHe2VwL9


19. 

Watch Video Solution

∫ dx
x2

1 − x4

20. Evaluate: 

Watch Video Solution

∫√2ax − x
2 dx

21. 

Watch Video Solution

∫ dx
sin− 1

x

(1 − x2)
3
2

22. 

Watch Video Solution

∫ dx
cos 5x + cos 4x

1 − 2 cos 3x

https://dl.doubtnut.com/l/_7IP7t04ZZmTS
https://dl.doubtnut.com/l/_kgE2cOL86VFf
https://dl.doubtnut.com/l/_0q137syULeR5
https://dl.doubtnut.com/l/_HXkYh8hYw453


23. 

Watch Video Solution

∫ dx
sin6

x + cos6 x

sin2
x cos2 x

24. Find 

Watch Video Solution

∫ dx
√x

√a3 − x3

25. 

A. 

B. 

C. 

D. 

∫ dx
cos x − cos 2x

1 − cos x

2 sinx + x + C

2 sinx − x + C

cos x + x + C

2 cos x + x + C

https://dl.doubtnut.com/l/_ddb6OhpSfsjv
https://dl.doubtnut.com/l/_AbtCerwkDeCk
https://dl.doubtnut.com/l/_4BV7Te5q9cTU


Answer: A

Watch Video Solution

26. 

Watch Video Solution

∫ dx
1

x√x4 − 1

27. Evaluate  as limit of sums.

Watch Video Solution

∫
2

0
(x2 + 3)dx

28. 

Watch Video Solution

∫
2

0

e
x dx

https://dl.doubtnut.com/l/_4BV7Te5q9cTU
https://dl.doubtnut.com/l/_twoluaJonqny
https://dl.doubtnut.com/l/_6eyEKuz6y4Pr
https://dl.doubtnut.com/l/_pWxqE74Tzcqd
https://dl.doubtnut.com/l/_tzApH8fGuxZS


29. 

Watch Video Solution

∫
1

0

dx

ex + e−x

30. 

Watch Video Solution

∫
π / 2

0

 dx
tanx

1 + m2 tan2 x

31. Evaluate :  by the substitution 

. Hence, find the value of 

A. 

B. 

C. 

D. 

∫
dx

√(x − 1)(2 − x)

x = 1 + sin2
θ ∫

2

1

dx

√(x − 1)(2 − x)

π

2

π

4

π

2π

https://dl.doubtnut.com/l/_tzApH8fGuxZS
https://dl.doubtnut.com/l/_wUxr5rgQNtKM
https://dl.doubtnut.com/l/_IiigJWkzH2RO


Answer: C

Watch Video Solution

32. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
1

0
dx

x

√1 + x2

−√2 − 1

√2 + 1

−√2 + 1

√2 − 1

33. ∫
π

0
x sinx cos2

x dx

https://dl.doubtnut.com/l/_IiigJWkzH2RO
https://dl.doubtnut.com/l/_8NELoINBC3Vg
https://dl.doubtnut.com/l/_NyTFYlfJbRX8


Watch Video Solution

34. Evaluate: 

Watch Video Solution

∫
1 / 2

0

1

(1 + x2)√1 − x2

35. Evaluate: 

Watch Video Solution

∫  dx
x2

x4 − x2 − 12

36. Evaluate:


Watch Video Solution

∫ dx
x2

(x2 + a2)(x2 + b2)

https://dl.doubtnut.com/l/_NyTFYlfJbRX8
https://dl.doubtnut.com/l/_22eDbeUvbJH9
https://dl.doubtnut.com/l/_YIwmNNq4mDvS
https://dl.doubtnut.com/l/_zATZibIkBnwT


37. If , then = (A)  (B)  (C) 

(D) none of these

Watch Video Solution

∫ dx = k(√2 − 1)

3π
4

π

4

x

1 + sinx
k 0 π 2π

38. Evaluate:


Watch Video Solution

∫ dx
2x − 1

(x − 1)(x + 2)(x − 3)

39. 

Watch Video Solution

∫etan − 1 x(1 + )dx
x

1 + x2

40. 

Watch Video Solution

∫sin− 1 √ dx
x

a + x

https://dl.doubtnut.com/l/_2JCGpG5qqvtm
https://dl.doubtnut.com/l/_WoA7gmaAnbn2
https://dl.doubtnut.com/l/_0ZkiD4PAmgXo
https://dl.doubtnut.com/l/_6U5OtnvXj7LJ


Watch Video Solution

41. 

Watch Video Solution

∫
π / 2

π / 3

 dx
√1 + cos x

(1 − cos x)5 / 2

42. 

Watch Video Solution

∫e− 3x cos3
xdx

43. 

Watch Video Solution

∫√tanx. dx

44. Evaluate:
∫
π / 2

0
dx

1

(a2 cos2 x + b2 sin2
x)

2

https://dl.doubtnut.com/l/_6U5OtnvXj7LJ
https://dl.doubtnut.com/l/_ixOuakNgyHvA
https://dl.doubtnut.com/l/_GQg9qO5xkr0A
https://dl.doubtnut.com/l/_9faLQeYGmhdI
https://dl.doubtnut.com/l/_qNKkj4zIfud7


Watch Video Solution

45. Evaluate :


Watch Video Solution

∫
1

0
x log(1 + 2x)dx

46. 

Watch Video Solution

∫
π

0
x log sinx dx

47. Prove that 

Watch Video Solution

∫
π / 4

−π / 4

log(sinx + cos x) dx = −  log 2.
π

4

48. Evaluate:
∫ dx
cos 2x − cos 2θ

cos x − cos θ

https://dl.doubtnut.com/l/_qNKkj4zIfud7
https://dl.doubtnut.com/l/_qO1HhnDSSc6e
https://dl.doubtnut.com/l/_ZHHx0DdIakYZ
https://dl.doubtnut.com/l/_VWxhLFevRwH9
https://dl.doubtnut.com/l/_uZymD1F8brvx


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2(sinx + x cos θ) + C

2(sinx − x cos θ) + C

2(sinx + 2x cos θ) + C

2(sinx − 2x cos θ) + C

49. 

A. 

B. 

C. 

D. 

∫
dx

sin(x − a)sin(x − b)

log
∣
∣
∣

∣
∣
∣

+ C
1

sin(b − a)

sin(x − b)

sin(x − a)

cos ec(b − a)log
∣
∣
∣

∣
∣
∣

+ C
sin(x − a)

sin(x − b)

cos ec(b − a)log
∣
∣
∣

∣
∣
∣

+ C
sin(x − b)

sin(x − a)

sin(b − a)log
∣
∣
∣

∣
∣
∣

+ C
sin(x − a)

sin(x − b)

https://dl.doubtnut.com/l/_uZymD1F8brvx
https://dl.doubtnut.com/l/_msuQDLSA8dQA


Answer: A

Watch Video Solution

50.  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫tan− 1
√x dx

(x + 1)tan− 1
√x − √x + C

x tan− 1
√x − √x + C

√x − x tan− 1
√x + C

√x − (x + 1)tan− 1
√x + C

51.  is equal to∫ dx
x9

(4x2 + 1)6

https://dl.doubtnut.com/l/_msuQDLSA8dQA
https://dl.doubtnut.com/l/_OCxlU7JtUdEc
https://dl.doubtnut.com/l/_CSeQcHBDf6MX


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(4 + )
− 5

+ C
1

5x

1

x2

(4 + )
− 5

+ C
1

5

1

x2

(1 + 4x)
− 5

+ C
1

10x

( + 4)
− 5

+ C
1

10

1

x2

52. If

, then

A. 

B. 

C. 

∫ = a log∣∣1 + x
2∣∣ + b tan− 1

x + log|x + 2| + C
dx

(x + 2)(x2 + 1)

1

5

a = , b =
−1

10

−2

5

a = , b = −
1

10

2

5

a = , b =
−1

10

2

5

https://dl.doubtnut.com/l/_CSeQcHBDf6MX
https://dl.doubtnut.com/l/_IIjUe94Fr7xW


D. 

Answer: A

Watch Video Solution

a = , b =
1

10

2

5

53. is equal to:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫ dx
x3

x + 1

x + + − log|1 − x| + C
x2

2

x3

3

x + − − log|1 − x| + C
x2

2

x3

3

x − − − log|1 + x| + C
x2

2

x3

3

x − + − log|1 + x| + C
x2

2

x3

3

https://dl.doubtnut.com/l/_IIjUe94Fr7xW
https://dl.doubtnut.com/l/_OtwgsL6lHPQY
https://dl.doubtnut.com/l/_lhnlC0EhzEIq


54.  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫  dx
x + sinx

1 + cos x

log|1 + cos x| + C

log|x + sinx| + C

x − tan' + C
x

2

x. tan' + C
x

2

55. , then

A. 

B. 

C. 

∫ = a(1 + x2)
3 / 2

+ b√1 + x2 + C
x3dx

√1 + x2

a = , b = 1
1

3

a = , b = 1
−1

3

a = , b = − 1
−1

3

https://dl.doubtnut.com/l/_lhnlC0EhzEIq
https://dl.doubtnut.com/l/_75x7yZnDW4YX


D. 

Answer: A

Watch Video Solution

a = , b = − 1
1

3

56.  is

A. 

B. 2

C. 3

D. 4

Answer: A

Watch Video Solution

∫
−

π

4

π

4

dx

1 + cos 2x

1

https://dl.doubtnut.com/l/_75x7yZnDW4YX
https://dl.doubtnut.com/l/_zDf0d017rQBn
https://dl.doubtnut.com/l/_Jx9yoGqBLMfD


57. Prove that : 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
0

√1 − sin 2xdx = 2(√2 − 1)

π

2

2√2

2(2 + √2)

2

2(√2 − 1)

58.  is equal to

A. 

B. 

C. 

∫
π / 2

0

cos x esin x dx

e + 1

e − 1

e

https://dl.doubtnut.com/l/_Jx9yoGqBLMfD
https://dl.doubtnut.com/l/_xw72AC29ub8i


D. 

Answer: A

Watch Video Solution

−e

59.  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫ e
x dx

x + 3

(x + 4)2

e
x( ) + C

1

x + 4

e
−x( ) + C

1

x + 4

e
−x( ) + C

1

x − 4

e
2x( ) + C

1

x − 4

https://dl.doubtnut.com/l/_xw72AC29ub8i
https://dl.doubtnut.com/l/_Q6eRV4Z3nG6y
https://dl.doubtnut.com/l/_0rAjVMQFGaAe


60. If , then 

Watch Video Solution

∫
a

0
dx =

1

1 + 4x2

π

8
a =

61. 

Watch Video Solution

∫ dx
sinx

3 + 4 cos2 x

62. The value of  is

Watch Video Solution

∫
π

−π

sin3
x cos2

xdx

https://dl.doubtnut.com/l/_0rAjVMQFGaAe
https://dl.doubtnut.com/l/_LAkXyxTFKnkP
https://dl.doubtnut.com/l/_IQTejkVOD9lK

